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Problem

My future depends on this test!!
What should I study?

I know the material, 'm just bad at
taking tests!

Somebody please help me!!

I need a miracle!!

- No you just need Study Buddy!



Initial Paper Prototype



Overview

AR Glasses

Transparent Sheets
represent AR

Glasses analyze users
test / study material
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Tasks

Test Taking Tips

Peer Help System




Task 1 - Test Taking Tips

i 0-‘;\6 ¥
T S

Z36 58
[,

loo Reoplz ME trenpwh A Nespacee
(ovFermvee .

WG
US oF Tvem e  WrRiTeRs [

) 5 . oo T A
AND  Maag T 33 ME Eoireas, & 3 PR Bt T
OF THe Peope At The (emreReNE, ” 7

i p st ” (ovrerue . US oF Tvem me Weatees
Y e Borw Whwes ASD ESiTos s = Yoo 'K a5 . AND  Meae THAN 38 Ae  EoiTeqs.
AD 2% e Newwer . Whar (S THE P OF THe PEopLe Ar THE (GNRERENCE,
LiglesT Powple MMRee of PERE 3 ; . - \pages AND EBIToRS

Vo A Verw Weoms AW EDrroes 7 3 s Whar (s THe
Iy 2 1 MesT Powele WReJor  PERE
by, k 3 o ey A EDroes ¢
i Staer Peacrice

.22 TEsT
E. ¥




Task 2 - Peer Help System
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Bad at math

Preparing to take the GRE
for the first time

Testing Process

Spencer

CS Student

AR Experience

Boris

Medical Assistant
Taking a MCAT prep course

Previous CI Participant



Testing Results

Users didn’t know they needed
their own practice test.

Little or no interaction with tips
section.

Some users found hints more
distracting than helpful.

Home screen was interruptive to
study flow.

Users failed to use the ‘help’
gesture properly.

Improvements made

Supplied a screen that informs
Users to present their test.
Removed in test tips and provide
a test analysis.

Simplified home screen and
added overlay menu.

Removed Gestures because they
were unnecessary and confusing.



Final Paper Prototype






Task 1 - Test Taking Tips
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Confict between generations may be a problem that has persisted for centuries, but the
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Task 1 - Test Taking Tips

Conflict between generations may be a problem that has persisted for centuries, but the
nature and intensity of the conflict obviously ____ in response to changes in social and
economic conditions

a. increase

b, disappear

c. decline

e. wane
After a 12-year imprisonment under falss treason charges, Alfred Dreyfus was justly
effectively putting an end to the French poitical scandal known as the
Dreyfus Affair.
Select the two answer choices that, when used to complete the sentence fit the meaning
of the sentence as a whole and produce completed sentences that are alike in meaning.
a. abrogated
(b) exonerated
(@ acquitted
4. interred
e assassinated
1. shunned
3. Ifthe integer m is a multiple of both 10 and 12, then all of the following must be factors of
mEXCEPT

@15

b. 12
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1. Conflct betwen generations may be a problem that has persisted or centuries, but the
nature and intensity of the conflct obviously___in response to changes n social and
‘economic condiions

a. increase
b disappear
c. decine
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Task 2 - Peer Help System
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Task 2 - Peer Help System

Selie  For R W % ELpN View

x; ; 4
YE+Sx +L =0 -Qmmm?ﬁmm ek +6 = 0 Rare Yok TuToR,

kKK

o grpag)

2. % Ty E
s cec bR v ¢ o > X

= 'S.*S" “4-1-6

2\

s-Jet-4-1-¢
T[St VR 6 ot

]

) s

%= S+ g e

2-\

-S-y €t -4.].
e —

Tl

Se BoTH Az Twe




Digital Mockup



StudyBuddy

point
to select

a4
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Task 1 - Test Taking Tips
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Exit

Try to keep the test

centered in view so
StudyBuddy can track
your performance

Start Practice Test



Total time
remaining:

Suggested time
remaining for question:
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Exit
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Score: 75% Avg. time per question: 0:51

Topics that Tips:

need review: If you don’t know an answer,

Sentence Equality star it and come back.

Algebra Determine as quickly as
Problem Solving possible if you want to skip.

Question Overview



1

2

Question: 1

Time: 1:08
(a little too slow)

Topic: Algebra
Correct Answer:

Status: Correct

Tips: Itcanbe
overwhelming to
have 5 answers to
choose from. Try to ! *75==

cross out unlikely
options to narrow
the possibilities.

Question Overview
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Task 2 - Peer Help System
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Analytical Writing

Verbal Reasoning

Quantitative Reasoning
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& How helpful was Egan?

not very
helpful helpful
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Summary:

e Paper prototype brought project to life
e We are not our users
e Embrace change



Questions?




